ETEX

Ver 1.20

2003/05/15

IATEX

IATEX






axb a a \times b
a-+b a b a \div b
axb a b a\pmb
aFb a b a\mp b

a-b a a \cdot b
a<b a b a<hb

a>b a b a>b

aslb a b a \leqq b
a>b a b a \geqq b
axb a b a\neq b
a=b a a \fallingdotseq b
a" a n a™n

(@) la Cam )
va a \sgrt{a}

Ya n a \sqrt[n]{a}
K a a \frac{b}{a}
la| a \mid a \mid
a : ]

a,b,c, a,b,c, - a,b,c,\cdots




y=f() |y [z y=f(x)
Y /s ",
f (=) /s T f -1} O
fr
sinx x \sin x
cos T x \cos x
tan x T \tan x
sin® x 2 =z \sin "2 x
log, x a,b a b \log _a x
log = ,T \log x
fog f g f f \circ g
-t f f ~{-1}
x5y |x v f X Y, f| X \stackrel{f}{\to} Y
atb a b f a b f |a \stackrel{f}{\to} b
firx—=y | Y f fx Y f: x \to y
f(z,y) Ly f 25 Y, T(x,y)




a a a \vec{a}
ﬁ AB AB \overrightarrow{AB}
la | a \mid \vec{a} \mid
a
0 \vec{0}
axb a b \vec{a} \neq \vec{b}
a/lb a,b \vec{a} \parallel \vec{b}
a b
alb a,b \vec{a} \perp \vec{b}
a b
a—= (a1,az) a ai,ap \vec{a}=(a_1,a _2)
a s ai, az
a-b a,b \vec{a} \cdot \vec{b}
(a,b) a,b ( \beku{a} , \beku{b} )
Qg 10 a,b ,a, b, ( a\quad b )
Z a,b ,a, b, \begin{pmatrix} a \\ b \end{pmatrix}
® X1y m,n m n m \times n
Z Z a,b,c,d ,a,b,¢,d \begin{pmatrix} a & b \\ ¢ & d \end{pmatrix}
A? A 2 AN2
A1 A A AN{-1}
Az A z A \vec{x}
(@) 0




{an} an \{ an\}

Y ak=1 n k=1 ak | \sum _{k=1} ~n} {k(k+1)}

k=1

n — oo n n n \to \infty

nh_>m an=a | n an @ \lim {n \to \infty} a n=\alpha
;L — 00, An, «@

T —a a a x \to a

lim f(z) = b a f(@) b \lin {x \to a} fF()=b
b a f(x)7 7b
’ a, f(CL’), b

xEIariof(x) T a f(z) \lim {x \to a+0} f(x)
; a f(z)
@ a+0,f(z)

Xliran_of(ac) T a f(x) \lim {x \to a-0} f(x)
; a f(z)
iy a— 07 f(.’E)

Az — 0 x 0 x 0 \Delta x \to 0

f'@) v fs Z Y, () y’

Z—Z dy, dz \Frac{dy}{dx}

%f(x) d,dz, f(z) \frac{d}{dx} f(x)

% (z) d, dz, f(z) \frac{d}{dx} F(x)

(a,b) ;b (ab)

[a, b] a,b [a,b]

() vy / T, ') y”

sz d, v.d y 2 \Frac{d 2y}{dx 2}

dci; f(@) d, d, z, J@) o f(z) 2 \frac{d"yHdx"2} f(x)

y™ y n yM{ (M}

FMeo f(z) n () ()

;’mff dn,dznf@ y n \frac{d*ny}{dx n}

ﬂi:‘\ f(l’) d? n, da x,n, f(l’) f(IE) n \fl’aC{d"n}{dX"n} f(X)

=

f(z)dz ,Q b JS(z), dz \int _a ~b f(x) dx
[F(2)]3 F(z),a,b [ FGX) 1 "b _a




ACB A B A \subset B
ADB A B A \supset B
ACB A B A B A \subseteqq B
A B
A2B A B A B A \supseteqq B
B A
a€A a A a \in A
a A a
a¢ A a A a \notin A
a A a
A>a A a A A\ni a
{1,2,3,4} 1,234 1,234 \{ 1,2,3,4 \}
{z |z <6} <6 \{ x \mid x<6 \}
<6
ANB A B A A \cap B
A B
A B
AUB A B A B A \cup B
A B A
A=B A B A B A=B
A A A \bar{A}
10 \phi
P=Q P Q P \Rightarrow Q
PsQ P Q P \Leftrightarrow Q
P P P \bar{P}




nPr n,Pr P n,r SN, T nP _r
nCr n,C,r  C n,r S, T nC_r

n! n n n!

n(A) n,A n, LA, n(A)

P(A) P A A P(A)
Pa(B) P,AAB P AB PA, ,B, P_A (B
z x x \bar{x}
E(X E. X X EQO

V(X) V,X X V()

o(X) X X \sigma (X)
P(X=4) | P, X —a, X=a P(X=A)
B(n, p) B,n,p B(n,p)
N(m,0?) | N,m,o? N(m,\sigma ~2)




x’ x x \degree

LA A \angle A
ANABC ABC \triangle {ABC}
L) m l m I m I \parallel m
INm I m I \nparallel m
NABC = ADEF | NANABC ADEF \triangle {ABC} \equiv \triangle {DEF}

NABC ADEF

AB AB AB \overline{AB}
8

e \alpha

8 \beta

~ \gamma

0 \theta

0 \pi

A \Delta




